EARAROBEEIERT — 2 N— IBISH —F

201478108 (k) 9E&HE3H

Al | X AHER 8 SR 3K ESRE IR
[A&4€]1%&:215000H ~ 23#%&:39,000MH ~ 3#%&:16,000M  4#%:10,000H / 5&%:0M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
RN NUEFT :31. —2-2- . — LEE (BHE)
1 4 NFEIL N % 3 éi.o T 1(3_1)2 2-2-2-1 | 41.1 4 :1_138) %ﬁu.uﬁi
L4 AT hLyh— BASIEXIL R XF
¢ # 3 | AMEE 1:31.2 1-1-1-1 | 41.3| — 1 491 | SiEfEZ (BHE)
2 1| RINILEHZ 56.0 Fae) (t9) |[M-Kenichik—nFs7 (
L:TITRAFTEN BI9A XTI 93> =R %5
> K3 3 | BRAE 1:32.1 8-8-6-4 |39.7| — 5 458 | ETREIA (BEHE)
sl 2| PR EVEFH 5.0 @ (o) | ) Fr—zrEvar
:€r/0704 B:xvXT7zA4T7— izlssbae ]
Sl s FREH : 55— — AREE (BHE)
AR 3| ENTRTYLY i 3 i 1.(332).7 5-5-5-5 | 40.8 7 <4+227) e
RV TGATIAL R BENTITSUT A BIR
. . FIE— :33. ~7-7- . — BriE—5 (Z84E)
5077 TSA NTHEL 4 3 &5 1(333)3 7-7-7-7 | 40.7 6 ;1})25) e
R:FLI IR BUVARIATFTp=— ENCPERERIZ ¢l
# 3 | SHEX 1:33.4 3-3-3-3 |41.8| — | 3 | 413 |®OHE (BEE)
6l8/g|FIREXIT T 54.0 (1/2) (-5) | () J P N
L:ZFA4AT—IK B:ehLTUER i s
= 5 ft 3 | RZAiE 1:33.5 4-4-4-6 | 42.1| — 2 440 |BRBX (BHE)
7155/ 77Fa2a—Jb 252.0 (7€) o) | (B xZ
L:ZNMF2—)b B:T7YVIXZ&A B IE—
. 4 _E ALt : —6-8- — BHEE (BHE)
8 6l hEI/UT i3 R 1.(334).1 6-6-8-8 | 41.5 8 (4_122) ng(
R:TF—T4FAF XY B:a1xTrxy— B 77—4
® I —F—@EBIERL
13=zr= 1,4,8,5,3,6,7,2
Aol=5r= 1,4,8,5,3,6,7,2
G§a=7r= 1,4,8,5,3,2,7,6
41—+ — (1,4),8,2,3,5,7,6
[ RN
B OB 4 610M 714K 1-4 310M B E 1-4 810M &R 1-2-4 3,120
8 B 4 1704 2-4 710 B H 4-1 3,270M JEH 4-1-2 24,380
1 130M4 1-2 280M
2 320M

ABICOVWTRDTEEERROODE. TR LIV,




